
Soustraire des fractions mixtes négatives (F)

Nom: Date: Note:

Calculez chaque différence.

1. (−2 710) − 229 = − = − = =

2. (−3 311) − 412 = − = − = =

3. (−359) − 312 = − = − = =

4. (−556) − (−5 711) = − = − =

5. (−2 911) − (−415) = − = − = =

6. (−51112) − 1 211 = − = − = =

7. (−318) − 525 = − = − = =

8. (−112) − 135 = − = − = =

9. (−314) − 213 = − = − = =

10. (−112) − 535 = − = − = =
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Soustraire des fractions mixtes négatives (F) Réponses

Nom: Date: Note:

Calculez chaque différence.

1. (−2 710) − 229 = (−2710) −
20
9 = (−24390 ) −

200
90 = (−44390 ) = (−48390)

2. (−3 311) − 412 = (−3611) −
9
2 = (−7222) −

99
22 = (−17122 ) = (−71722)

3. (−359) − 312 = (−329 ) −
7
2 = (−6418) −

63
18 = (−12718 ) = (−7 118)

4. (−556) − (−5 711) = (−356 ) − (−6211) = (−38566 ) − (−37266 ) = (−1366)

5. (−2 911) − (−415) = (−3111) − (−215 ) = (−15555 ) − (−23155 ) = 76
55 = 12155

6. (−51112) − 1 211 = (−7112) −
13
11 = (−781132) −

156
132 = (−937132) = (−7 13132)

7. (−318) − 525 = (−258 ) −
27
5 = (−12540 ) −

216
40 = (−34140 ) = (−82140)

8. (−112) − 135 = (−32) −
8
5 = (−1510) −

16
10 = (−3110) = (−3 110)

9. (−314) − 213 = (−134 ) −
7
3 = (−3912) −

28
12 = (−6712) = (−5 712)

10. (−112) − 535 = (−32) −
28
5 = (−1510) −

56
10 = (−7110) = (−7 110)
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